£ 2 KT A g
LT F &8RP LML £ R

o WoLopARPE AHLFI(p RPE eI
% R STECE ]
#‘B*F"‘ 90 4 45 [08:20 — 09:50]
KN > 1100 4~
AR YA TR PR FRREEARAE LT R
L F N ;—5 —\,\2 4 @*ﬁ—;& g H o 7a g E\,zfg:,g%t—-ﬁ s hur,—lb-/

7}1511 AJ\)J_E o (At A IRAE M f%g_ﬁ:,nggLA}(,)

1. Asin fig.1 current I is set up in a loop
having two radial lengths and two
semicircles of a=R and b = R/2.

What are (a) the magnetic field at P?
and (b) the loop’s magnetic dipole moment? (18%)

2. One observed that the distance between adjacent maxima in a double-slit
interference pattern is 2.2 mm. If the slit separation is 0.3 mm , the
slit-screen separation is 110 cm , what’s the wavelength of the light source?
(16%)

3. What is the Hall effect? How to determine the sign of the charge carriers of a

given material by applying the Hall effect? (15%)

4. (a) Why do short dogs walk with quicker strides than do tall dogs? (b)A car
speeds up while the engine delivers constant power. How does the
acceleration vary with time? (18%)
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